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ool SAIY 243 X (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
IS K& 80,597,892 68,097,492 12,500,400
= 4,200,000 4,200,000 0
[ 19,275,000 9,450,000 9,825,000
= 57,122,892 54,447,492 2,675,400
Epaial-nkel 3,057,650 2,701,650 356,000
sS40 g4zt X2 2,426,650 2,070,650 356,000
SIS 70 F& & B2 =Y 530,000 470,000 60,000
308 L&z 15,000 0 15,000
01 Z& 3 15,000 0 15,000
OSAIIGHE 370 F& A2 2
A Ea=3 15,000 0 15,000
306 E¢= 515,000 470,000 45,000
01 &%= 515,000 470,000 45,000
OSHE 3UsE 2240 AdsS 29 115,000 70,000 45,000
VAl X 346,000 220,000 126,000
308 XXM SO0IA 126,000 0 126,000
01 HXEHH B E2ES 126,000 0 126,000
Oovaad I 126,000 0 126,000
olges N 151,500 131,500 20,000
307 el2+old 148,300 128,300 20,000
02 QIRHEAAIHE X 148,300 128,300 20,000
OZAIIUBEXE S ALY 100,000 80,000 20,000
=4I| YK IS ALY PH(2IHIRFXS 150,000 0 150,000
)
306 EH= 150,000 0 150,000
01 &2 150,000 0 150,000
OsAIIY 48X 2AJIUE AL 2= 150,000 0 150,000
A& D= & K& 31,879,000 20,953,000 10,926,000
[ 19,275,000 9,450,000 9,825,000
== 12,604,000 11,503,000 1,101,000
HXIIS s 31,879,000 20,953,000 10,926,000
= 19,275,000 9,450,000 9,825,000
= 12,604,000 11,503,000 1,101,000
UE SAZAI2HXIAMALE) HE 15,931,000 14,850,000 1,081,000
s 9,450,000 9,450,000 0
S 6,481,000 5,400,000 1,081,000
403 AXIEHMSAH=0lH 15,931,000 14,850,000 1,081,000
Fas 9,450,000 9,450,000 0
(= 6,481,000 5,400,000 1,081,000
02 B 2SHICHEHAHZ2 H LI EFALZ I 15,931,000 14,850,000 1,081,000
OUIZ SHAFAIZZHXIAMAHE) AL 15,931,000 14,850,000 1,081,000
Fas 9,450,000 9,450,000 0
= 6,481,000 5,400,000 1,081,000
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A JIEXE
F: NGay Jl=soie 2 X2

Celr BIHIIY |4 EER=E)
SN - B SRA(BH) - HPAY - BES 0l Ary ol 8 o tmE==T
SYE J=¥PdH 7= 40,000 20,000 20,000

307 2Ito1d 40,000 20,000 20,000
02 2B YA E X 40,000 20,000 20,000
OME SEY Jl=ggdy XId 20,000 0 20,000
A2 SSLUE XAMAHEH HE 9,825,000 0 9,825,000
z 9,825,000 0 9,825,000
403 X SHHMSAH=01H 9,825,000 0 9,825,000
= 9,825,000 0 9,825,000
01 AXIEHM A= E £ 9,825,000 0 9,825,000
OAlZ SZLUE XAAALH HE 9,825,000 0 9,825,000
z 9,825,000 0 9,825,000
AHER e 2 29 34,085,677 32,858,677 1,177,000
= 4,200,000 4,200,000 0
< 29,835,677 28,658,677 1,177,000
KLU JIBIAIZAIS XI& 29,657,787 29,380,787 277,000
= 3,125,000 3,125,000 0
& 26,532,787 26,255,787 277,000
=t ZePAEE Bl E XA R JIZ2HESE S 150,000 0 150,000
ez}
403 MR HHMSAHE01H 150,000 0 150,000
01 AXEHHM A =22 L 150,000 0 150,000
Ozt ZIYAASI BIFEERAL & DI
A 29 150,000 0 150,000
WX sd% JEH0l2 SeAH BtEd XA Y 100,000 0 100,000
403 THXISHMSAH=01H 100,000 0 100,000
01 AR A =2 £ 100,000 0 100,000
OUxE =g Jelbiole 22AH BEd
TN BS 100,000 0 100,000
OatEIZ =2l 23S &AH X2 27,000 0 27,000
308 AHXIEMSOIH 27,000 0 27,000
01 HXHHBAEES 27,000 0 27,000
OO0rEHIa=%el 23S Al X1 27,000 0 27,000
AOIEDBIAE =AY 900,000 0 900,000
Y ot ANEDRIME SEZHUH 2H(F01EE 900,000 0 900,000
Xig)
403 TR M SAH=01H 900,000 0 900,000
01 AR A =2 £ 900,000 0 900,000
Y ot ANEDRIACH SE2HHIMIE
= 900,000 0 900,000
SaJIY SH(LY - SADI/MLSEXR) 9,880,000 9,830,000 0
28 ¢ Jl& X4 9,830,000 9,880,000 0
SHUEESHE XA 0 2,500,000 2,500,000
306 £2= 0 2,500,000 2,500,000
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